ET MAINTENANT

G.Becaud

H.Dubois

hautbois 1

Strophe 1)

22 mesures tacet

R2p U

Vi
y. i
[ £ Y

bois2

bo

b

ko

280 4 o

=14

PO

514

I hsd

B1 ( 2eme strophe )

bo

%A 4T

7 -1 1 7)

40p 4

\

4%6p 4

B2

7‘

ko

DO

qQ

*

8

52p 4 =

0" Ne

58p 4 P2

bo

¢l

bo

ko

647 4 o

) 17)

514

HO

)

C1(3em

——

0p 4 &

o

-

%p 4@ £

e strophe )

@ (3¢

e o Ne o o

82p 4 P

q

*

L8

pa

88p 4
\J
P

©et maintenant

Page 1

hautbois 1



o

ko

QL

1

94p U

CODA

99;\,”.9 ~ 179/ o M

104y 4 “#

109;\&9

©et maintenant

Page 2

hautbois 1



